Even More Tests for Convergence! (Sec 11.6)

Ratio Test:  Suppose that the limit  
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  Then the infinite series 
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of nonzero terms

(i)  Converges absolutely if 
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(ii) Diverges if 
[image: image4.wmf]1

L

>

.

  The ratio test is inconclusive when
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.      Note:  Good for when you have exponentials and factorials.
Examples:

1. 
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----------------------------------------------------------------------------------------------------------------------------------
Root Test: Suppose that the limit  
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 either exists or is infinite.  

  Then the infinite series 
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(i)  Converges absolutely if 
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(ii) Diverges if 
[image: image13.wmf]1

L

>

.

  The root test is inconclusive when 
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.  We then must use another test.

Examples:

1. 
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2.  
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